
I Problem 10.3-13 (b) (c) For each pair of matrices A1, A2 shown, decide whether

there is a permutation matrix P with A2 = PA1P
T . Either find P or explain why no

such P exists.

(b) A1 =


0 0 0 1 1
0 0 1 0 0
0 1 0 1 0
1 0 1 0 1
1 0 0 1 0

 , A2 =


0 1 1 0 0
1 0 0 1 1
1 0 0 0 0
0 1 0 0 1
0 1 0 1 0

 .

(c) A1 =


0 1 0 1 0 1
1 0 1 0 1 0
0 1 0 1 0 1
1 0 1 0 1 0
0 1 0 1 0 1
1 0 1 0 1 0

 , A2 =


0 1 0 1 1 0
1 0 1 0 0 1
0 1 0 1 0 1
1 0 1 0 1 0
1 0 0 1 0 1
0 1 1 0 1 0

 .

Solution. (b)

P =


0 0 1 0 0
0 0 0 1 0
0 1 0 0 0
1 0 0 0 0
0 0 0 0 1

 or P =


0 0 1 0 0
0 0 0 1 0
0 1 0 0 0
0 0 0 0 1
1 0 0 0 0


(c) The graphs corresponding to A1 and A2 are shown as follows. It is easy to see that

G2 contains a triangle, however, G1 does not. Thus, no such P exists.
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